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           We calculate          for             

           
          We calculate the area of rectangles, each with base 1 and height           

          Using left endpoints, our estimate is :            

          Using right endpoints, our estimate is :          

          Taking the average, our estimate is  
     

 
      

  

 
          

We calculate          for             

x f(x) - h(x)

0 0

1 0

2 -2

3 -2

4 -2

For the first two rectangles, the area is 0.
For the next two rectangles, the area is -4.
Therefore, we estimate that the area between the two curves is 4.
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Using the large red rectangle, we estimate is 500*420=210,000 square feet - overestimate

Using the green rectangles, we estimate 100*(220+410+340+240+240)=145,000 square feet
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TI-nspire allows us to graph the bounded area and calculate it
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****************************************************************************************************

These solutions were created by Donald R. Goral from exercises in Applied Calculus, Edition 1
by Shana Calaway, Dale Hoffman, David Lippman 
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